(6BMAT-VIIB)

THREE YEAR BSCS, (CBCS) DEGREE EXAMINATION, APRIL 2018
 SIXTH SEMESTER
Part - 11 : Mathematics

Elective : OPERATIONS RESEARCH
Time : 3 Hours _ Max. Marks : 75
| PART - A

Answer any FIVE questions.
DD D) (50 esre0dNoy.

(Marks : 5 x 5 marks = 25 marks)

1.  Describe the scope of operations research (O.R.)

0.R. G, 5662 9580550.

2.  Explain the linear programming problem with éxamples.

STIEEIS00E" DESIS (Herd $R0B5% DHB0BIB.

3.  Explain simple'x algorithm to solve linear programming problem. -
'535053@&@55685‘626365& o8 ?)}))5“) DEAD DHBOHD0.
4.  Solve the following LPP graphically.
Lgda f,)g;;ﬁé [SE0E TR0RG D TE0° FGoDOH0.
Max = Z =8x,+5x, |
(KBg0) |
Subject to
DONHI" FeBorr

2x, +x, <500
x, <150

x, <250

x;, %9 20.

5.  Describe the transportation problem with its general mathematical formulation.

A8es KerBok EISHS® Sares SR0dg% Beg)dn.
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Explain Vogel's approximation method for obtaining an initial basis feasible solution of
transportation problem.

£.86) depon0D) SES T STEFSLBGDH &0 epes B RC551> ERORTROLIRD D5B0BI

Define Assignment problem. What are the aésumptions in AP?
Bera00) DR0g0 X)éogbo@;ip. Bero00Y) é:ﬁoééeS’SX) ééée)o)a’)e)?&). FPo0d0.
Solve the following assignment problem using Hungarian algorithm.

ORBOS es&TBES Tgoe (808 Beranog S50 ABoBIB.

A B-C D
10 25 15 20
15 30 5 15
35:20 12 24
17 25. 24 20

=W N -

Explain the assumptions involved in a sequencing problem.
I MISWbEeTovsTa ) bé.)}()as QB0E); D EI5Q)VON DDB0WOH0.

Give Johnson’s procedure for determining an optimal sequence for processing n items on two

machines.
n HNDOR Bt CHOErEP &HBODGENE WPORBAH BEVHNK TS dERIN T
SO |
PART - B
Answer any FIVE of the following questions.

Choosing atleast ONE question from each unit.
DD D (HHO eTeD0y. (98 0I5 D06 EDV0 28 (BT DITEHD FPAID0.
(Marks : 5 x 10 marks = 50 marks)

UNIT -1

‘Explain the meaning, definition and limitations of QR.
SBF T SBEAD Bov),; B0, DEFBTRY HBA S8R0BeD FrAVHD.
Explain simplex algorithm to solve linear programming problem.

Behos> erodisen 5075 #POBEDS W) SO 2B0HA.
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~ UNIT-II

Sblve the following LPP, graphically.

5 558" 808 (Heroltsen Koyt P00,

Max Z=3x; +4x,

'Kngo

Subject to

 DOHITROEoT

220, + %, <400
2x, +5x, <180

and x;,x,>0.

Solvei the foilowing LPP using the simplex fnethod.
330}35‘\) ég@ ogo° (808 QESID DY X)éo“ésm a»@o'mmo.-
Max Z =06, £l | | |

K650

Subject to

DODATRIFE O

. 2x,+x,<104

X, +2%, <76 -

X5 Xy 200
UNIT - 111

Explain :

DHBoBDW.

(a) North west corner method

TPO50D) DaTPe IR,

(b) Least cost method for obtaihing an IBFS of a transportation problem.

03 Doy 9B IBFS Sarer S50y &750° 958002
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16. Find IBFS to the following trarisportatidn problem by VAMlmethod.
808 Srere SBGK L8ES) Gapano) SE Trsor §° emd B5 R SR,
' : W W: Ws Supply

s
B i S R g 5
B st g e 8
F, B, Sl 9
[ R Y S 14
Demand (4 11 - -18 .
Barob:

UNIT - IV
17. Explain Hungarian algorithm for solving. assignment problem.

Beron0g) S0y AE0BIR &) TFORBADS eerBESDs d5BoBID.

18. Solve the following aséignment problem.
1808 Eeron05) $0550 BB,
Men
RERBNEON
I.- W V-~
Job 1/8 26 17 ID
a6yoer 2 (13 28 4 26
3138 19 18 15
419 26 24 10
UNIT-V
19. Explain the procedure for sequencing of n jobs on three machines.
06 AOEPeR n &6TTE ©ROERIZNR HB0D JSBoBIBD.
20.. Find the sequence that minimizes the total elapsed time :required to complete the following
jobs. . _ . '
808 &8°goR) TrEBD BHoakisn Enk), eRoER0R SRR,
Job: (&8s 1 2 3 4 5 6
M, : S B 1R [ e s
M;: 10 7 11 6 12 .8~
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